Model: Kantskaerer BMZ5800 Part Number: 90070065 Year: 2020




POS QTY | PARTNUMBER BESKRIVELSE DESCRIPTION

1 1 445453 ROR TRANSMISSION ROD

2 1 444604 DRIVAKSEL G2602 DRIVE SHAFT

3 3 444556 HOLDER KOMPLET RETAINER ASSY

4 1 441888 COVER G4301 PROTECTIVE COVER
5 1 445454 KANTSKARER WORK HEAD

6 1 444541 BOLT M6X12 SCREW M5X12

7 2 444565 BOLT M6X30 SCREW M6X30




